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SECTION-A

. Attempt all parts of the following : 8§x1=8

(a) How can you represent a sparse matrix in

memory”?

(b) Give some applications of stack.
(¢) Explain tail recursion.

(d) Define full binary tree.

(e) Whatis spanning tree?
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(f)  Wrnite overflow conditions for circular queue.
(g) Defhine data structure and its types.

(h)  Define hashing.

SECTION-B

Attempt any two parts of the tollowing 2612

- ——

(@) bxplain various data structure operations with
example.

(b)

Write an algorithm for the conversion of infix

L0 postlix expression using suitable example.

(€)  What is tower of Hanoi problem? Draw

recursion tree for three disks.

(d)  Write an algorithm for the insertion of an

element in the linked representation of queue.

SECTION-C

Note :— Attempt all questions. Attempt any two parts

:

from each questions. 3x8=40

(a) Write C function for push and pop operations
of stack.




(b)

(¢)

(a)

(b)

(¢)

(a)

(b)

(¢)

(a)
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Write an algorithm for the traversal of singly
linked list.

Write a program in C for the insertion of an

element in the beginning of the array.

What are the disadvantages of simple queue over
circular queue? Write an algorithm for the

deletion of an element in the circular queue.

Write algorithm for the deletion of an element

in the binary search tree.

Explain abstract data type with example.

Write a program in C for the implementation of

bubble sort.

Write an algorithm for the addition of two

polynomial equations using linked list.

Define AVL tree. Explain all the rotations used
in AVL tree wtih example.

Explain Diykstra's algorithm with suitable

example.
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(b)

(¢)

Construct a binary tree for the following

preorder and inorder traversals :

Preorder : ABDIEHIJCFKLGM
[Inorder : DIBHJEAFLKCGM

Explain depth first search algorithm with

suitable example.
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